Simple Past - Gap Texts 4 - Answer Key

Complete the sentences using the correct past tense form.

At the party

Last Sunday we all wore (to wear) costumes and went
(to go) to Joe’s house because it was (to be) his birthday and he
had (to have) a great  party. Tom was (to be) a pirate.
He said (to say) he sailed (to saill) the  seven seas and
robbed (to rob) four  ships per day. Tina came (to come)
as a magician. She showed (to show) us cool tricks and she
looked (to look) really cool in her black suit. Dave dressed up
(to dress up) as a diver in a wetsuit. That was (to be) really nice, but he
couldn’t (cannot) walk and it took (to take) very long when
he had to (to have to) go to the toilet. Sandy was (to be)
a cowgirl. Later she couldn’t (cannot) find her cowboy hat. We all
looked for (to look for) the hat and eventually Harry found (to
find) it behind the sofa. George was (to be) completely green. He
came (to come) as a dinosaur. With his big mouth and sharp teeth he
looked (to look) scary, but when we ate (to eat) the
birthday cake, George had (to have) cake all over his costume. That
wasn't (not to be) scary at all. Joe was (to be) a clown
and he jumped (to jump) wup and down when we gave (to

give) him his surprise present: two tickets for a concert of his favourite band.

U B U N G S K6 N I G © www.uebungskoenig.de




